
Topic 5. Allocation of program’s 
segments inside the memory. Linking 
of a program. The main methods of 

work with the “turbo-debugger”. 

1.Why is it necessary to use a stack in a program? 
2.Describe the stack organization. 
3.What size should have a stack? 
4.Describe the apparatus organization of interrupts. 
5.Describe the service of interrupt procedure. 
6.I/O system.





































The 8086 can generate 16-bit of I/O address. 
Thus it can address up to 64 Kbyte I/O 
locations or 32 K word I/O locations.
The 16-bit I/O address appears on A_0 to A_15 
address lines; A_16 to A_19 lines are at logic 0 
during the I/O operations.
The 16-bit DX register is used as 16-bit I/O 
address pointer to address up to 64 IC devices 
in in-direct addressing mode.
The 1/0 instructions with direct addressing 
mode can directly address one or two of the 
256 I/O byte locations in page 0 of the 1/0 
address space.


